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OEMA 1°
A Na oopmhnpboste g mupaxito wémues:
ouv( o+p) eo(a-B)= . 1- 2nila
nu2a= Low2a £02 Mov. 6x1
2
B. No anodeifere 6n: o ol
1+ ow2a Mov. 10

T. At 1 owvipmon  f)=logx @0 xm a +1.
@) No. ypéyere o wedio OpIOHOD T KL T0 obvoko TdY TG f.
B) Tt yvopilete v my povotovia g f. No yivov or avriotones
tpapucés napaothoe. Mov.9

OEMA 2°

Aderon w0 meMbvopo P )= X +art+By ~2

@) Na Bpedotv T a, B e R Gote 10 P(x)ve &yt mapiyovia oz
Xu Slupotpevo pe to =1 va Sive vrdhowmo 2 M

B) Av @ =3 ku B=0-va-Mbe 1 aiowor B(x)" Mov 12

©EMA 3°

AfSerat 7 apdunmc mpoodos (o) i my omoia  éyovps:
G~ as=21 K a;=-5

@Na omodeyfel bu 0=3. Mov. 5

B)No. vnodoicere tov a2 Gpo. Mov. 5

¥) Tdsove mpbovg Spovg amd TV eveépe mpGodo Vo mépovpe
6ote 0 G8powopa authy ve e 15. (Aetar V529= 23 )  Mov.15

OEMA 4°

@ No jolei n ckiooon log(3*+1) + log (3°+4)= log (93°+1) Mov22
B) H psywkdtepn amd mig pilec mov ppiikote poli pe tog apibpots -VZ
Kat 2 pmopoty va Geopndody Swdogwol opoi yeou. Tpodson;  Mov.3
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